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QUESTION 1

What ClusterXL mechanism is used to verify that the interfaces of other cluster members are UP and communicates the
status of cluster members? 

A. PING 

B. CCP 

C. PPP 

D. HELLO 

Correct Answer: B 

 

QUESTION 2

Which daemon is used for Geo protection? 

A. in.geod 

B. cphamcset 

C. fwd 

D. cpd 

Correct Answer: A 

Reference: https://supportcenter.checkpoint.com/supportcenter/portal?
eventSubmit_doGoviewsolutiondetails=andsolutionid=sk97638 

 

QUESTION 3

Which one of following commands should you run to display HTTPS packet content together with kernel debug? 

A. fw ctl get int https_inspection_show_decrypted_data_in_debug=1 fw ctl get int ssl_inspection_extra_debug=1 

B. fw set int https_inspection_get_encrypted_data_in_debug 1 fw set int https_inspection_show_debug 1 

C. fw ctl set int https_inspection_show_decrypted_data_in_debug 1 fw ctl set int ssl_inspection_extra_debug 1 

D. fw ctl set int http_inspection_display_encrypted_data_in_debug=1 fw ctl set int http_inspection_extra_debug=1 

Correct Answer: C 

 

QUESTION 4

The maximum number of critical devices or pnotes on a cluster member is what? 



A. 8 

B. 24 

C. 32 

D. 16 

Correct Answer: D 

Reference: https://sc1.checkpoint.com/documents/R76/CP_R76_ClusterXL_AdminGuide/7298.htm 

 

QUESTION 5

If cluster members are geographically separated and the time to detect a failover needs to be longer, what timer needs
to be adjusted? 

A. fwha_timer_cpha_res 

B. fwha_timer_dist_res 

C. fwha_geosync_timer 

D. fwha_timer_sync_res 

Correct Answer: A 

Reference: https://sc1.checkpoint.com/documents/R76/CP_R76_ClusterXL_AdminGuide/7298.htm 

 

QUESTION 6

Which of the connections cannot be accelerated with SecureXL? 

A. Every NAT\\'ed connection 

B. Every encrypted connection, such as HTTPS or SSH connections 

C. Every connection destined to the Security Gateways 

D. Every connection through a rule using a time object 

Correct Answer: A 

 

QUESTION 7

In order to test ClusterXL failovers which command would you use on one of the ClusterXL nodes to initiate a failover? 

A. clusterXL_admin down -p 

B. cluster XL_admin up -p 



C. cphaprob -d TEST -s ok register 

D. cphaprob -d TEST -s problem unregister 

Correct Answer: A 

Reference: https://sc1.checkpoint.com/documents/R76/ CP_R76_ClusterXL_AdminGuide/7298.htm#o97358 

 

QUESTION 8

What is the command to check the number of CoreXL firewall instances? 

A. show corexl stat 

B. fw ctl multik stat 

C. coreXL_admin stat 

D. fw ctl corexl stats 

Correct Answer: B 

 

QUESTION 9

Which process is responsible for the generation of certificates? 

A. cpm 

B. cpca 

C. dbsync 

D. fwm 

Correct Answer: B 

Reference: https://supportcenter.checkpoint.com/supportcenter/portal?
eventSubmit_doGoviewsolutiondetails=andsolutionid=sk97638#Security%20Management%20Software%
20Blades%20and%20Features%20-%20SmartLog 

 

QUESTION 10

Which kernel table stores information about NAT connections? 

A. connections 

B. tab_nat_conn 

C. xlate 

D. fwx_alloc 



Correct Answer: D 

Reference: https://supportcenter.checkpoint.com/supportcenter/portal?
eventSubmit_doGoviewsolutiondetails=andsolutionid=sk32224 

 

QUESTION 11

The customer is using Check Point appliances that were configured long ago by third-party administrators. Current
policy includes different enabled IPS protections and Bypass Under Load function. Bypass Under Load is configured to
disable IPS inspections if CPU and Memory usage is higher than 80%. The Customer reports that IPS protections are
not working at all regardless of CPU and Memory usage. What is a possible reason of such behavior? 

A. The kernel parameter ids_assume_stress is set to 0 

B. The kernel parameter ids_assume_stress is set to 1 

C. The kernel parameter ids_tolerance_no_stress is set to 10 

D. The kernel parameter ids_tolerance_stress is set to 10 

Correct Answer: D 

 

QUESTION 12

Which of the following commands does not initiate full synchronization? 

A. clusterXL_admin down –p 

B. clusterXL_admin up –p 

C. cphaprob –d faildevice –s problem report 

D. cphaprob –d faildevice –t 0 –s ok register 

Correct Answer: C 

Reference: https://sc1.checkpoint.com/documents/R80.10/WebAdminGuides/EN/
CP_R80.10_ClusterXL_AdminGuide/html_frameset.htm?topic=documents/R80.10/WebAdminGuides/EN/
CP_R80.10_ClusterXL_AdminGuide/162353 
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